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Display measurement data as fractions of a unit and equivalent fractions on a line plot
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Display measurement data as fractions of a unit and equivalent fractions on a line plot (3.4,7) 738
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Convert measurements of length within the metric system (3-10) 747
el pla] ass Jghall SS90
o
3. "D cm = m 4. 8500 mm = m
B. 15 km = m 8. 73,000 m = kKm
T. 271 m = mm B 92m = cm
2. 7.5 mm = cm 0. 0.509 km = m



Convert measurements of mass within the metric system
(5-12) 761
GAs plladl asd A Oluld Lo
- JaS
5 2000 mg = g 6. BOg= mg
7. 0.75 kg = mg B. Gkg = Q
9. 3100g= “q 10. 0.05 kg = mg
. 407g= Mg 12. Skg = i
Convert measurements of capacity within the metric system (13-18) 767
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Solve problems of metric and imperial measures by using logical reasoning I

(6-11) 774
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Collect and organize data

(6-9) 794
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Construct and describe line graphs and double line graphs (7-9) 806
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Make predictions from data (12-15) 812
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Analyze and interpret data in a line graph | (11-15) | 818
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Solve problems by making a line graph (1,2) 823
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Find the mean of a set of data

(7,8)
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Find the mean of a set of data

(11,12)
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Find the median and mode of a setof data
by dsgael Jlgially Jaswgll slow)

(2-7)
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Find the median and mode of a set of data
(8-10)
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Interpret line plots (1-3) 849
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Classify two-dimensional figures based on properties

(2-9) 879
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Classify triangles based on attributes such as side measures and angle measures Example-2-Jts+(1,2) 890
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Identify and describe parts of a circle (center, radius, diameter, chord) Example-2-Jts 898
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Classify quadrilaterals based on attributes such as congruent sides, parallel sides, and right angles (10,11) 912
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Describe the properties of three-dimensional shapes

2 B :

(2-5) | 923 |
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Describe the properties of three-dimensional shapes (3-5) 926
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Use volume formulas to find the volume of rectangular prisms

(3-8) 937
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